Commissionerate of Health (COH) Staff Nurse Question Paper (20-06-2021)

| Paper- 1
Which of the § ing i
Vo the following is not a pillar of 'Women ['-'”Cfp"“"c““hif’

Plattorm (WEP) by NITI Aayog ?

(\) Vichar Shakij (B) Karma Shakt

() Ichha Shakti (D) Gyan Shakti

TR 54 el oy Gl “Yfuay

Gen W@28h{' Al Mo “2f] 7
(A) R @y

(B) sl alzy
()
D351 3By (D) s+

2 What is i
Vhat is naturaj family planning 2
(A)  Havi :Xual j
Ing sexual intercourse Imespective of any period
< il <crod.
B) N i :
(B) Not having sexual ntercourse in

any time
(C) Having '
Ing sex 'TC 1
g sexual intercourse wigh help of contr '
Ic Lontraceptives
(D) Not havj |
1aving sexual intere
: & sexual intercourse o the particular days
o Sar days when women

gl g5y Qo g &

(A) a8 wel wysyuy ML L Rty iy A3 33q)
L 54\,

f}h 19 el 1l adly AL 4 539

(€) aelAusl wewdl adly A2 534

M) % 2l sgy Qly Al GRig Rl wadly e, 439

w

According 10 Alma-Ata, clements of PHC are
(A) Eight (B)  Three
(C) Six (D) Five
MLl Moyzy, Ul 2aflog) rd) 1)

A) g
(A) (B) =g
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NU01_C | 2 [ Contd..,



Ram1
Typewriter


Ram1
Typewriter



Which cells are destroyed by HIV ?

(A) A - Helper cells (B) K - Helper cells

D) Y - Helper cells
541 SN A wS ) alL Al Y @ 7

(A) A - Jeyy Ay

C) T- Helper cells

(B) ¥ - deyx P

©) A - deuz o) (D) A - deyz gy

S Gas gangrene is caused by which of the following micro-ogranisms ?
(A)  Staphylococcus Aureus (B) Clostridium perfringens
(C) Pseudomonas aeruginosa (D) E.coli
N AN (Aeiel] gy U™ DAl gl iy @ ?
(A) RSN )93 r(,B) SRR Y3y
©) AN A3B (D) §-9
6

What is the shape of the lymph nodes ?
(A) Tubular

(C) Cuboidal

(B) Circular

(D) Kidney or Oval shapeq
e el 21812 9 @ 9

(A) s (B) 20ls1R

(C) s34y @) Bl vadl 2l ayg,

7 'Epidemiol()gjcal triad' does not include :

(A) Host (B) Agent

(C) Risk factors (D) Environment

AN A st 21507 qudey el -

(A) €l (B) %2

© A yRue) (D). uularal
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8 A blanket from a child with chicken pox is likely to be contaminated
With the virys that causes chicken pox. What is the blanket called 2

(A)  Fomite (B) Host
(©)  Pathogen (D) Vector

Bsrtlsdiauann syosy o ) WA ol gl aaidl Aoyary B
% Rssag g0 “ B, AR WU g sq) ?

A) s (B) dlae
(C}_ Qeloge (D) Aser

9  Which committee was constituted for 'strengthening medical education
and support manpower' ? ‘

(A) Kartarsingh . (B) Shrivastay
(C) Jungalwala (D) Bhore

defloll Ruetel 1A Ausd HiquEZy UYL dAlqdl HI2 56 SR L
530 2l edl ?

(A) SdARRe (B) sladq

(C) %Adqual (D) &R

10 The treatment of tuberculosis is called as DOTS because :
(A) It's a communicable disease
(B) DOTS indicates name of the drugs
(©) Treatment given under observation

(D) Treatment given in various intervals

W f] Y12q19 DOTS' st 201 B 51291 % :

(A) 3As syfdog Yo B
B dgx cqiailg am y2d o
9 Mdlaer a5 wiyami viadl AR4R

D) [afyy ddAAH] qyalHi viddl ARAR
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Which method is used to remove femporiry hardness of water 7
(A) Base exchange process (13)  Permutit metlyo

(C) Clark's method (D) Al ol above '
gl aqzetll el £2 sal WS 59 walasl Gurilor gaanif »na
(A) & asadles wald [ulpu  (13) vailee vl

(C) sasAl vald (D) GUZ A dn

!

The characteristic of feees in enferie fever is
(A) Rice water diarrhea

(B) Pea soup diarrhea

(C) Constipation

(D) Hard bulky stool stained with blood
M2y Bazui ol craliga o

(A) vl el gar il

(B)  QziRu YU Fdl 28l

(C) s8ilrud

(D) ddlfl oudd el oedl wpa

Which solvent is used for dilution of BCG vaceine

(A) Distilled water (3)  Normal saline
(C) Genceral tape water (12)  Any available water
sl aaseil Gular oflzflog 2l wlaare adly wy @ 7
(A) R¥éla diez 1yl aansq
(C) UMY Ao vl (1) 81§ uaL Guasy w()

A disease occuring at irregular intervals and only in a few places s calleq
S calle -

(A) Sporadic (B)  Lndemic

©) Epidemic (D) Pandemic

YK AU vidud 2 D55 % g Aql WA, sday B
A UL (B) -3y .
© A1 (1) U35

Cl 5
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15 When was the Ayushman Bharat Scheme launched ?
(A) March 8, 2013 (B) April 14, 2018
(©) January 1, 2018 (D) April 30, 2018
LM SR dogeil 54 43 s 2l ?
(é:) 8 33, 2018 ®) 14 Ala, 2018

©) 1 2ay2dl, 2018 (D) 30 ilfua, 2018

16 What does 'G' stands for in GOBAR DHAN Yojana ?
‘ (A) Galvanising (B) Global
(C) Government (D) Gross
Ao He Al ‘@’ ed g ?
(A) Slea-shial (B) sdlea

(€) -2 (D) e

17  Gujarat government launched 'PURNA' project to eliminate malnutrition
among girls in the age group of 14-18. 'PURNA" stands for -

(A) Prevention of under nutrition and reduction of nutritional anemia

(B) Prevention of under nutrition and remedy of nutritiona] activities

(C) Prevention of under nutrition and reduction of nutritional accidents

(D) None of the above

A% AR 14-18 ] qy Zall L5200 gilye B SRl W12y’
WFs2 A3 s4] ¢d). ‘o’ Aeq -

(A) Bdvad s 233 2lA A Risad vils A EIE TN N L
B) Rd-aud s i AU 2 W s YAyag A 4.
© Bd-uq s R Ydlud A Assuqt s YU 2 sefl3-2
D) BwRsj 9§ g
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18 A mosquito bites a person who SUbscqucnlly dcvclﬂps fever and 12

What type of transmission would.this be ?
(A) Mechanical vector transmission

(B) Biological vector transmission

(C) Direct contact transmission

(D) Vehicle transmission . i
As yuoy A X O FA did A Sledlnll iy B ooy gy us®

gy sal ?

(A) DBidlsa aser 2i-uMan
(B) oudldlmsd ds 214
?C) U2 Slwes2 21-ABaA
(D) <dlsd 2iulian

19 Which one amongst the following is not a millenium development goal ?
(A) Improve maternal health
(B) Combat HIV/ AIDS, malaria and other diseases
(C) Ensure environmental sustainability
(D) Develop a local partnership for development
Aol sy As MAGY s gey A4l ?
(A) ™ldiril 2q1Rey4i yy13)
(B) 842 Nl [ gy, NGt 31 wiey 330,
(©) wulazely 2516uli-l wiqd
(D) (st 2 @ls oyaflgid)Qy (51 s34

20 Janani Shishy Suraksha Yojana (JSSY) is a scheme Operating under -
(A) ICDS (Integrated Child Development Scheme)
(B) NRHM (National Rura] Health Mission)
(C) NHM (National Health Mission)
(D) NUHM (National Urban Health Mission)

Yl Ry 2y gy (USSY) 2 su1 gplsn dzn 2024 5 7
(A) A5 0.9y (ALgd ou fasiy o)

(B) At 213 )y 2y (13 2oy wzloy o)

(©) ARy (el widoy pygq)

(D) Aty N3y 3y, (R4 239 wyzisu Pyam)
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21 Ps_\-choanal}"tic therapy was developed by
(4) Sigmong Freud (B) Jacobson
(©)  Frankiin (D) Aristotle
AASAUAA s 3y A Al 8 ?
(A) Roi gy :_“@ COGEE]
(©) 3vselly ) Addea
™
—
22 Sleep walking is otherwise called
(A)  Somnambulism (B) Somnokinesis
(C) Insomnia “:ED) Enuresis
Guui wldq A g sdaw ? Lj
(A) Ao \i--zB) AL
© -1l (D) Ay
23  Definitive treatment of all type of jphobia is
(A) Behaviour therapy EL;
(B) Social therapy :f;
(C) Avoidance therapy i
(D) Drug therapy
et wsizdl Sl MG QAR 5§ 8 7
@A) add Guar (leaxr E‘tu\ﬂzj
g) woulys Guak (lwd a“ﬂ}?;
(C) uqogi-l GUAR (s Eﬁl‘m
(D) & Gyaz (g2t A
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24 Who is the first Psychiatric nurse ?

(A)  Hidegard Peplau (B) Linda Richgrgs
-

- (D) Jean Watsop

NSl wsuds g ecufz.?ﬁ
(4) e e iﬁ] (B) dl=q Q§

(C)  Sigmond Freud

(C) A=z H1g (D) @+ dqleys

25 Parkinson's disease ig caused by

v

€-tb old age

Q0

\;j“

"

e.producing cells in the brain

(D) Demyelination of the nerve cells

(A) Death of brain cells dy

(B) Hereditary factors

(C) Impairment of dopamin

Wt Qo a1 o) AY B ?

(A) 9gldRAA 5139 3o Sl ey

v~
(B) @QR{[ yReo) 00)

Nk
(C) il uiPid Geyles Sl &l

=
(D) Adl ANl RPRAA

4

26 Antidote for methanol is

o —
1

(A) Ethanol - (B) Disulfiran

N

(C) EDTA <yt (D) Ethylene
i"“.")

Al 2A-Ade § 8 7
(A) daAla B) duadlz
© §.4.34.. (D) Suddl

( C’"‘m
D



27 Cllmnmtlwmp_\' R E—
(A) h"lﬂlli]'illluliug patient's sleep schedule

(B) Manipulating patient's environment

(©) f\il.illSlilly. o stimuli

(D) Adjusting working hours

Sl g

(A)  eelaio) ellusf uuAs A% wn B, | s
(B)  eelao] BL9golg | dAldlaRl A% 52

EE) Greloseil 32 2o Paal

D) S04 seus) ssaq

28  Autistic child shows

(A) Not wanting 1o cat (B)  Crying for attention

(C) Catatonic like rigidity (D) Enjoying being with people

AWAEs iy U Aal A B ?

(A) vl $au9p ) (B) v Wz 2ud, (aeq)

(©) Maslsdl F wig s (D) bl WA wdaidl vz i 5
29 Rapid succession of incomplete and poorly connected ideas

(A) Flight of ideas (B) Flat effect

(C) Derailment (D) Flooding

YRl A Ao 5752y (B2 sl Grifizs

(A) sa1Se g a4y, (!)« §d2 52

© Riad- (D) salls

30 The stage of growth & development which is concerned with role

identification
(A) Oral stage ' (B) Ocdipal Stage
(C) Latency stage (D) Genital stage
{M A Yaelydes (Ryg U (sl qoped)) S Aed Suau
Uoilyq @ 7
(A) g 330 (B) vy s34
(©) Qaf] 33 (D) iinzy 330
NU01_C]
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31 Best prophylaxis for febrile seizure is
(A) Acetaminophen (B)  Phenobarbitope
(C) Phenytoin (D) Diazepanm

R Wz qE 55 S WAy & 7

(A) FAa™02+ © (B) &g
(C) 2lA (D) Udyy
F

|77
(]

A major side effect of haloperidol is

(A) Drowsiness

(B) Dry mouth

(C) Extrapyramidal reactions

(D) Anorexia

SdliAdadl 3wy AR g B 7

(A) 31604 (yd)

(B) 31 Gy (s )

©) Aszilanlsa uRiBuii
(D) #A3syy

33 Acclassic feature of OSAS is
(A)  Snoring (B) Sneezing
(C) Early morning awakening (D) - Bursts of energy
AR A5 safyy ase d
(A) -8l B) ©ls 2uadl
(©) dAddl yqp3 o019 [ (D) G s A2
NUO0L_C] -
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36
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OCD is best managed with which of the following psychotherapy ?

(A)  Psychodynamic psychotherapy
(B)  Interpersonal psychotherapy
(C) ‘Cognative Bchaviour Therapy

(D) Supportive psychotherapy
AL W Ad dald s2a 59 wanAydl QA WS e 8 7

(A) A3 AHs sl
(B)  S-2uxqd aundydl
(C) sadlq ofldfmyr adl
Sl

(D) AURId syl

The most important factor in a therapeutic relationship is

(A) Trust (B) Knowledge

(C) Professionalism (D) Motivation

Qawydls Adu-alluni Al Hewd wdlua 84 & ?

(A) R (B) -0\d&%

(C©) wEA-dlru (D) dldux

Common risk factor in patient with severe depression is

(A) Fatigability (B) Hallucinations
(C) Agitation (D) Suicidal tendancy
fly geraaien el Akt Av R s§ €l 8 !

(A ¢
A us (B) . dyafldat

©) AN+ (D) s e=s=ll
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40

sis includes the following Except -
T iques of Psychoanalysis 1€
The techniques of Psyc

loration (B) Free association
(A) Explora

(C) Clay association (D) Transference

QA A4 s 2ss 58 -2l ?

(A) AsuudlRad B) A AR QA
(C) 54 AAR(A1 (D)/ 21RUGIY

What is total score in Minimental status examination ?

(A) 25 (3) 30
() 32 (D) 35
lA2d Asplldad-Al 2led %R 32l © ?
(A) 25 (B) 30
(€) 32 (D) 35

Omega sign is seen in which of the following ?
(A) Anxious patient (B) Deluded patient
(C) Depressed patient (D) Negativistic patient

AAidl suni aAou Pag 2wy & 7

(A) AA ef] (B) alMd el
©) edia el (D) AsAMS &€l
Rema is admitte .

d in psychiatric ward, refused to cat breakfast by stating
that the food ig poisoned. This kind of response is an example of
(A) Hallucination

(C) Delusion

(B) [llusion
(D) Empathy

B AU M 3R ke B, Q 2 s s WRAE B A Gragan 8 -

(A) 2oy (B) aift (5@3)350
© dem R
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41 Which of the following condition is an early symptom of Myasthenia gravis?

(A)  Ptosis

(B) Dysphagia

(©)  Fatigue improving in the evening
(D) Respiratory djstress

A 54 aael qrdd ARy wabis qae ® ?
A) 81201y

B Jadsfy

(©) Aot 14d wgni yuid wiad)
D) &MU dqsells

42 A baby with Cyanotic spells can be calmed by providing
(A) Fowler's position (B) Knee chest position
(C)  Supine position (D) Prone position
AARS Weaian cuasy 58 A aiq ) sy ?
(A) 516 WA~ (B) Hearll tidl Bk
©) Yudt Wl (a3 »4) ) Gy U6 og (0 Doflan)

43 Lead poisoning is also known as
(A) Asterixis (B) Plumbism
(C) Plummer - Vinson syndrome (D) Prader-Willj syndrome
dls B2 {RAAMEL 5§ Ad wal AWy @ 9
&) Auzs (B) el
(©) f&‘-l?.-cﬂ'laﬁ"l Al (D) AR-ll -y

44 Logan bow is used post operatively after surgical i'epair of
(A) Cleft lip or palate
(B) Esophageal atresia
(C) Inguinal hernia
(D) Hiatal hernia
sl uPfse viludad usl i ol 3R wun @ 7
(A) sdsz €16 #A diad (3R g A dls)
(B) w~irioll Al
(C) S-oy-a sl

D) ez s>l



45  Spasm of the facial muscles occurs in

(A) Hyperthyroidism (B) Hypercalcemia
(C) Tetany (D) Hyperkalemia
oS sefarti adul il dwe wd 8 7

(A)  sisRasAduH (B) glSudadlul
(C) Zle-l (D) s18uRdaAHuL

46 Complication of bronchiectasis is

(A) Cerebral abscess (B) Lung abscess

(C) Amyloidosis (D) All the above

o519 4 soudldu © 7

(A) Ao Aol (B) don ey (3sauid Aor{l)
©) A QSRR {D) Gur-l AHl %

47  Which among the following DM is characterized by damage to beta cell 7

(A) Type (B) Type II

(C) Gestational (D) All the above

LAl su wsizel wypie (Srulidla qader) dleRa g5 8 gy
(A) 2y - 1 (B) adu - Il

(C) HRuUd (D) GURHL Gl %

48 Low or absent glucose in CSF indicate

(A) Bacterial meningitis (B) Viral meningitis

(C) Brain abscess (D) Encephalitis
AU Ne. A 9ghlx Aad 1Y g vudl Ao WY ‘itu[i
(A) Asdud AF=nsly (B) e AF-ndy 8y

(9 A Aol (D) AFAISRY

LW -
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S0

51

52

Levan shunt is done in .
_ Peritonitis
(A) Ascites (B)

(Q) Cirrhosis (D) Appendicilis

R”ch}’)k A S QUi sl 2 & 7

A Ny B) AdaSH
)
(GREIREEY (D)  Aq~{15El™

Cushing's syndrome will produce increased

(A)  Urine output (B) Serum potassium
(9) : Glucose level (D) Immune response
g[&'i‘al Rl A s 9 @ 2

(A‘-) Y- 2UG2ye (B) ARM Y2liuy
(C)_ 48l dad (D) 3y Ay

Most common injury in blunt abdominal trauma.

(A)' Kidney (B) Liver

(Gﬁ) Bladder (D) Spleen
Qargl A S UL M| oy @ 7

B Bl (B) R

(C) «an D) ¥l (o))

Frécture of the distal radius is called

({x) Hume fracture (B) Monteggi, fracture
r((f? Galeazzi fracture (D) Colles' fractyre
Reeat 3yl 2RI § s3ami 213 @ ?

(A) &Y 35 (B) 2Ry sy
(C) d» 3542 D) A 3523

NU01_C ] 16



53 An agent that inhibit the growth of bacteria.
(A) Antiseptic (B) Bactericide
(C) Fungicide (D) Bacteriostat
A2 3 § As2RUAL Qs wes1d 8 7

(z}) w[RAMRS o (]:3:2/ QAR IS
(C) $AAS (D) ARl
54 The normal Serum Potassium level is
(A) 2 -3 Meg/L (B) 2.3 - 3.1 Meg/L
(C) 3.5 -5 Meq/L (D) 5.1 - 7.4 Meq/L
AU A DeRyy dR 22g &y B ?
(A) 2 -3 Meq/L (B) 23 - 3.1 Meg/L
(€) 3.5 -5 MeqlL (D) 5.1 - 7.4 Meq/L
55

All of the following are neurotransmitters except

(A) Dopamine (B) GABA

(C) Serotonin (D) Troponin

DA WG g yAzieflex el ?
(A duidln

(B) oueil
(©) AfRAAA+ (D) 2l
56 Warm, dry, pink skin is seen in
(A) Hypovolemic shock (B) Cardiogenic shock

(C) Anaphylatic shock (D)
AU, US, ol Ul QML By B ?
(A) SNDARNS s
(€) A UguAds s

Neurogenic shock

B) sfldw-s s
(D) AA-s s

NUO01 C| 17



57T Jo .
11€S criteria guides in the diagnosis of

(4) Ineffectiye endocarditis (B) Rheumatic fever

(©) Congestive heart failure (D) Congenital heart disease
SUL oy (Meltni ey wugs woleRisid IR ¢

(A Pitaaising 9)-0aipa (B) el i

©) &%RAq ¢s QR D) Sed e1f Jllo

S8

Abdomina] muscal guard is present in

(A) Ascites (B) Peritonitis

(C) Haemorrhoids (D) Peptic ulcer

Uerll 1Yelg a5 AL el Q. B ?

(A) zﬂalq;la (B) WAy

(C) &HAN D) Vs &R
g

59 Warfarin toxicity can be treated with

(A) Phytonadine (Vitamin K) (B) Protamine sulphate

(C) Acetyl cyestine (D) Heparin
s ARARAAAN AR AA-unid AL gl o4 93 & 2
(;ex) slAHAIRA (2l K) FB) Wil s

(C) ':h.ﬂatt?c:t SRl p;_ GO

whic':h hormone is released from Zona glomerulosa ?

(B) Aldosterone

60

(A) Ostrogen

Cortisol
(C) Adrenalin (D) Cortiso

el oDl s il Al w8 7
(B) W&

1%
(A) ¥R @ dadde

© Af-udl-

19 Y . B



61 1019F will be equals to b
(A) 383°C B HIe

(©) 38.9°C ; (D) 37.7°C:
101° 33qdle ¥ GRAGR LY.
(A) 383°C (A-3) (B) 37.3°C (A-43y)
(©) 389°C (A-A3) (D) 37.7°C A-A3L)
62 The solution used to disinfect the bed linen of covid positive patient.
(A) Dettol (B) Sodiunl1 Hypochloride
(C) Lysol (D) Savlon
SRS Dol €€l Al el Wl 32 qudl Ny 1y B -
(A) e (B) ARYH e1fsalus:
©€) auda (qwua) (D\)-&qe&ﬂ
63

Recording of electrical activity of skeletal muscle is known as

(A) Electromyography (B) Electroencephalography

(©) Electrocardiography (D) Electrography

Bazd WAl SAGpsa NEed WA 1 B -
(A)  Sasgangl (B

p—

SRERR Y ER DI
(©) dasisifl2laug) (D) dasgausgl

64 Antidote for Heparin is

(A) Vitamin K (Bj Aminocarpoic Acid

(C) Protamine sulphate (D) Amniodarone
A AAde @ -
A) [Rakq ¢ (B) A5 Ss Aly

(9 NSy D) A=A
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% Shure « .
Qrp INStrument should not be sterilized by

) Cooling (B) Boiling
© Hot air oven (D) Antiseptic solution
Wy (MReRw) WA g Ay s3a0 ASA 4l
W) sRis, (81s) (B) oldRiat (1 Gsact welef))
© Qe 93 4q, (D) A-AAs Ayt
%6 ldeal RO of nurse 1o patient in an ICU js
8.0y y W2y Yy (€€ »uedd s Sy &
(“\) 2:1 (B) 1:2
©) 1 (5) 1:3

67  The method used for administering medication into the €ar is called
(A) Instillation (B) Inhalation

(C) Injection (D) Infilteration

SITHL Bl ANAL MR quud] 943 52 ® -

(A) S=dldun (B) S-s1dqyq

s

(C) S=¥su- D) Srileigyq

68 Which of the following is an example of an objective data 2
(A) Feeling of worry (B) Pain in abdomep
(C) Nausea (D) Discoloration o skin

AAeiell 53§ Gersel (Assua) oeFsdq 3y g @ 7

(A) RidiQl @l wd 8. (B) Wi g 8.
(©) Gost A g w B, @ el fasadan

20 Contd._.
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®  Braden scale is used for assessing

(A) Decubitus ulcer (B) Hypertension
(C) Diabetes mellitus (D) Infection
A By AAY s3] quAd .

(A) Jsyollen v (A3 AR)  (B) SlauReyq
©€) suBdA Hensex (D) €-¥5us

™ Normal serum sodim level is
(A) 145-155 meg/L (B) 135-145 meq/L
(C) 3.5't0 5.2 meq/L (D) 9 to 11 megq/L
A ARUUG DM (Rud) Qag & -

(A) 145 9l 155 meq/L _(B) 135 #l 145 megq/L

(©) 3.5 52 meq/L (D) 9l 11 meq/L

70 Low pitched, continuous gurgling sounds

caused by secretion in the large
airways is called

(A) Wheeze (B) Ronchi

©) éoughing (D) Stridor

et WA WSl et i Y13 Y= w0 Add °LQ°[C—ﬂ°l A 1
Al B -

A)  doflar 0B () (B) As§ (A-41)

(C) 38l (D) QR

72 Anthelmintic enema is given to

(A) Remove flatus (B) Remove foreign Partic]e
(C) Soften hard fecal matter (D) Destroy intestinal Parasio
A A5 Ry W2 vyl 2 B,
(A) A s8R szl B) RO Wsen oy, mq
e RN AWse sl (D) Vidwil Qmué‘aa q .
Nuo;;:)l - 21 "
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76

S

"Universg] Recipient” blood group !
(B) AB group

(A) O group
(©) A group (D) B group
e 3afllag-e sy 8 -

34 AB
@A) Ao B) ¥

Stiffness occurs in the body after death is known as

(A)  Algor mortis (B) Livor mortis
(C) Rigor mortis (D) Tardieu's spots

Yy (death) ugdl adlz 535 (:4s) 4O Al PR EPRETU S

(A) AARNR {RAA (B) dldR HRIAA

(©) PR A7 (D) 21y MIgA

Tapping over facial nerve causes twitching of the facial mascles is known as
(A) Chvostek’s sign (B) Chadwick's sign
(C) Trousseau sign (D) Homan sign

3Bua +da 2w sraEll 3R Hued edRPL (WS 8) aiu 8 dn 58 8.
(A) 2AR2sA ALS B) AR W
(C) 21Gfla A+ (D) Sl WS

500 ml of IV fluids need to be administered over 3 hours. Drop factor

is 20. calculate drops/minute.
(A) 32 drops/min (B) 33 drops/min
(C) 36 drops/min (D) 35 drops/min
500 Pufa 2uS.dl. 488 5 ssl WA B8, oui jy 2523 20 B,
4l Jzal Qw/Bibe 2d 7
(A) 32 fu/Bile

(C) 36 /B2

(B) 33 AR
(D) 35 Qb2



77

78

79

80

Highest level of need according to-Maslow's hierarchy model is

(A) Physiologic needs (B) Self actualization

(C) Safety and security (D) Love and belongings
MRt 3414 s wad el Gl (8132) ddardl o3Rud (13) B -
A) AADARss s (3Rud)  (B) Aes AsHAATHUn

(C) Asd u RsARA (D) a4 2 ofldl-(l-ory

Human Anatomical waste should be discarded in following coloured
container in hospital.

(A) Red (B) Blue

(C) Yellow (D) Black

g ARl A lAMIYL suL sarl Reollddi \RUzani Fsai
w1 B 7

(A) a4 (B) &

(C) Ml (D) sl

Best time to collect sputum sample for AFB. (Acid fast Bacilli).

(A) Moming after wake up (B) After breakfast

(C) In evening (D) Whenever the person cough
Q.ﬂséo{l. (AR g2 Ael) w2 wyeu (o119) Aal B i A3
AHY =

(A) AU Gle ygd) (B) el sul uedl

pm—

(€) Aiwil wd (D) R HRREEN g M g

Lateral curvature of spine is called

(A) Kyphosis (B) Lordosis
(C) Scoliosis (D) Goniosis
A2E 5 s WP 43 D -

(A) 1581{ly B) dillk

©) WWeAfly D) =Dl

o 1



81 ‘Whi

. ich of the following features is incorrect about pathological jaundice
N a newborn 9
A)
B)

(C)

Appears within first 24 hours.
Always treatment is required.
Y vl
111rubml encephalopath-yhl‘nay be seen.
L0
(D) Never appears within 24{thours of birth.

. ) :
aod Rigui Asdedlosa suay A QA-uuil 58 ara®isal Al ?
(A) uuY 24 sausdl viex v 8.
(B) d3a wRar ¥3dl 8.

(C) ezl A-Asieduell AS s B,

A
(D) %=l 24 sasdl e SR el el
0
!:;j"l
¢
82 Bronze baby syndrome is a complication of :

(A) Chemotherapy (B) Phototherapy

(©) Exchange blood transfusion (D) Phenobarbitone

oileos Aol Bt B AL Audldun 87

\..,.._l

(a) sknaudl o B Al
(C) AsAA% o ;lnu&gm,\ D) EFdeuollen

‘-- |

83 Name of surgery used to repair cleft lips :

(A) Palatoplasty (B) Cleftoplasty

i e -1 h. "
C) Cheiloplasty o (D) Cheiloschisis

s2al €lon YARA a2 el 2uadl oAbl M
oy (B) sgdnardl

@A) dadraird _]
D) WsARRR

t-‘-.-i

©) wsdrardl

4
NUO01 C] 2



84 The first permanent tooth to crupt s :

(A) Central incisor at 6 years (B) Molar at 6 years

(© Premolar at 6 years (P) Lower canine at 6-7 years
w2

v

. Y l:C]

@A) 6 alll BR Az S0z <(B) 6 avui

"
©) 6 af w Beilar (D) 6-7 Al G AR IS

s2al ua sl eld © ¢

85 '3 C'signs (coughing, choking and cyanosis) are the clinical features of -

e
(A) Lactose intolerance B) Cleft lip
9
(C) Pyloric stenosis D) Tracheo-oesophageal fistula
; ; ™)
3 0l A3l (GuR3, dforariel 2R W)l Balisa aialisdd S :

(A) a5y $1da-y (B) sds2 dlu
©) wHdRs RANY (D) 2AA-AANZDAA Fgal

\

86  According to Rubin's theory of maté‘iiﬁial role adaptation, the mother will

go through 3 stageg during post Ij‘ﬁitum period. These stages are
AL

(A) Attachment phase, adjustmenéjﬁhases adaptation phase
(B) Going through, adjustment period, adaptation period
(C)  Taking-holq, letting-go, attachment phase

(D) Taking-ip, taking-hold and letting-go

AR e gedetell R{qﬂ& 4 @ellA, Hidl N2 W wqfy
BT 3 deyzg ol yayo adl. m{}f}‘lhotsfsml ® :

(A) At doisg), oflsaelil df’{?} U sa qoiss)
(B) 208 g, ssquy wal, 2ugsert wal
(C) 24l @ic—s, Adlar o), ARl ot
(D) 28ld 84, 34a & A Adly 3
U01 C] 4

[ ™ _ ., =
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Cervica) Softening and uterine souffle are classified as which of the following ?
(A)  Positive signs of pregnancy

(B) Presumptive signs of pregnancy

(C©)  Diagnostic signs of pregnancy

(D)  Probable signs of pregnancy

AUTse w33 w1 sefaae g (Al aoflgd s 2 @ 7
(A) el wsicns Widl

(B) iolarairl aiaufic 2ddl

(©) detlaranqy suoRRs W)

D) Simfaenqt el Rug-

On which of the following areas would the nurse expect to observe
chloasma ?

(A) Abdomen, breast and thighs

(B) Chest, neck, arms and legs

(C) Breast, areola and nipples

(D) Cheeks, forehead and nose

QA su1 epor R A sl MAeel sl w8 59 ?
(A) U2, A A %™

(B) ®idl, s, sla A ol

(E) i, Adadl A -l {4

(D) 24, sUN A s

Which of the following complications is most likely responsible for a
delayed postpartum hemorrhage ?

(A) Uterine subinvolution (B) Perineal laceration

(C) Clotting deficiency (D) Cervical laceration

Adotad delayed WiR2UleH dAld W2 A 56 yelall e 8 ?
(A) aelaud Al (B) ARMud AU+

(C) sdl@adl Gt (D) ualfsd drauq

~r I Contd...



90  When delivering the baby's head the nurse supports the mother's perineum

to prevent tear, this technique is called :
(A) Ritgen's technique (B) Schultze mancuver
(C) Duncan maneuver (D) Marmet's, technique

ounsl Ml Bl suadl quy waf 233 sy 3 ettt WP
25l 2l B, il 2515 sl ayq @ -

(A) [Regndl dsls (B) 2sez0 afc'{ilé{

(C) st slala (D) el sl

91  The peak point of a uterine contraction is calléd :
(A)  Deceleration (B) Acceleration
(C) Acme (D) Axiom

AU ALt Pys 1) Sra) S8 2 B ;o

(A) Rudiyq /(3) A YA
(C) 253 (D) A2

92 When the shiny portion of the placenta comes out first, this is called

which mechanism 9
(A)  Duncap (B) Schultze
(C)  Hegar's sign (D) Souffle

UL 1) ) o et el WA S U A 84 B 53
2 8 7

(A) &5+ (B) e

(C) 203l 3y (D) g4
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93

95

hed except :
The following are signs that the placenta has detac

(A) Sudden gush of blood |
(B) Mother feels like bearing down
(C) Uterus becomes more globular
(D) Lengthening of the cord
DA 203l B 3 @A-ad el Aedl wg B Ridty 3
(A) s dldlq e
(B) il Aoy NG u4 Ay B

(C) Aeilad ay seygr w8
(D) sl dens qf

tubes, the test to be done is :
(A) Rubin's test (B) Postcoital test
(C) Huhner's test

dcqd $101 36\ Ry 26y
9 AN

(A) A 222
(C) g+l 22
-

(D) None of the above
12904 @ 3 ] g MUIRA 21 w2 yQagy

(B) WRefSeq 232

(D) Gudsd 418 ]

If the weight of newborn is less than 10 percentile for gcstational age
- then the baby is called :

(A) Low birth weight baby (B) Preterm baby

(C) Small for gestational age (D) Premature baby

% WM Qe+{) Gy A% A% 10 24 534, A Qly o) Ng] sQdqua
Ad B :

(A) esi %ele 610 S (B) s oy |

?E) Weilaral ay W2 le D) B2 oy

NU01_C) 28



you mean by fetal macrosomia ?

96 What do
(A) Birth
(B) Large size hea

weight less than 1.5 kg

d of a newborn

(C) Fetal distress

(D) Birth weight more than 4.5 kg

Bed Aoeibeud 218 4 Q7
ofl ¢

(A) FH 4% 1.5 Bal
y1g

(B) aaondd Hlel st
©) Bed R

(D) % 4% 45 Balel a3

nt uterus is known as -

97 Endometrium of pregna
(B) Morula

(A) Chorionic villi
(D) Decidua

(©) Trophoblast :
saladl oeladd - AZUH 443 avud 8.

(A) ARAS dl
(C) sl

B 13l
(D) gl

's initial action when umbilical cord

98 Which of the following is the nurse

prolapse 0CCUIS ?

rile warm saline dressing to the e}{posed cord

(A) Apply ste
(B) Place the patient in a knee chest position in bed

(C) Not.ify the physician and prepare for delivery.
(D) Begin monitoring maternal vital signs and FHR.
wERse A8 MAw w & cu [l ARlell wiIlis Bul 4 O 7
(A) Yedl 88 ux Fgrlsd 2R acls JROL Y.
@) e wudni gear-oiddl Rk 48l
© 5}!:82-1 YR 5 1 el Relladl e .&auil 53
(1()) :;li.cq-u qerayel AZdL A wg.AA AU F-lil&tla[' s W3
| IRM™

NUo1. C1
20 '



99 Which of (he following would the nurse assess in a client cXperiencing
abruptio placenta ?
(A) Palpable fetal outline
(B) Bright red, painless vaginal blceding
(C) Soft and nontender abdomen
(D) Concealed orexternal dark red bleeding
oyl Wararl vigeid sUR e€ld fAqmidl sy 3 AQ 7
(A)  we Ae{l 3ulnil
93) aorel ald, YsREd QAL 8dA1d
(C) % A l-2w2 U2

(D) &uIdd Ydl Cllel WM dld duld

100 A nurse is reviewing the record of a client in the labour room and notes
that the nurse midwife has documented that the fetus is at (-1) station.

The nurse determines that the fetal presenting part is:
(A) 1 cm above the ischial spine

(B) 1 finger breadth below the symphysis pubis

(C) 1 inch below the coccyx

(D) 1 inch below the ilieac crest

s 4 Aoz 3l el S e 570 W B 2 iy 52 9 3 W
Biauds A sxdey el © 3 ool (1) Rt W3 B, qaf sl 82 P
3 oe{+l uqd oL B

(A) SRRua sAs-L Gur 1 L
B) AR yhad 13 1 2l weus
© alzysad 2 1 82

D) SRiuis 32e N2 1 62
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